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Please show ALL your work and simplify ALL your answers 40 <8 < 2.
1. Convert the rectangular points into polar coordinates using & POSItVe rant " =

(2 pts each) 1% 5_;;5 -/ X
e
2 J' 3 '
S b) (—10b, —10b) where bis -
e \/—) - (»Jg ) a positive constant ¢ - [ «* +y* = | 200
-l o S et ol M Loy T
- ﬁsi \\} ol S-]r b // i
[ \ & »:,; A 6 6 / e = —E\—
et cr &
(Lo e

A e
O i o \
i - b, Y
\

(f(ow’i Y

o

2. Convert the polar coordinates into rectangular coordinates. (2 pts each)
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3. Convert the polar equation into a rectangular equation. (2 pts each) ... 58 < coe®x - 50 2%
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*no need to simplify to a particular form
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Directions: Graph each equation. Then classify each according to its most Spec

(2 pts for each graph, 1 pt for each name) 9

4. r =4sin36 5. r=2—3¢C0S
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(You will receive no credit for names such as “Sheila” or “Joey”... ©)

5. Write the equation of each graph provided. Then classify each graph according to its most
specific name. (2 pts for equation, 1 for name)
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6. Find all the points of intersection for the pair of curves with the following polar equations.
Show all work graphically and algebraically. (6pts)
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All the points of intersection are: \,//
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